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SN - GA(SH) - NRAY - BES O] a0 N E o HlRE2
MEFAHS 1t 869,626 818,606 51,020
= 238,000 0 238,000
- 631,626 818,606 A 186,980
g 2 A 245t 559,410 500,900 58,510
= 238,000 0 238,000
-l 321,410 500,900 A179,490
A Dl & &g 2435 559,410 500,900 58,510
2 238,000 0 238,000
-4l 321,410 500,900 A179,490
MEHA TIRIAE ZEALY 238,000 0 238,000
= 238,000 0 238,000
401 AIEHIZ S OHLI 238,000 0 238,000
= 238,000 0 238,000
01 AlZHI 238,000 0 238,000
ONEIA DRINE ZHAM
238,000, 0002 238,000 0 238,000
= 238,000 0 238,000
K g =4 20,000 0 20,000
307 2I2¢0I A 20,000 0 20,000
02 QIZHAAAE 2L 20,000 0 20,000
OatstE BAte T2 20,000,0002! 20,000 0 20,000
JIHX& 220,900 300,900 280,000
308 KXIEHMSOIS 220,000 300,000 /80,000
13 SI1Z SOt E & X2 &AL 220,000 300,000 /80,000
Ol 9xl e B2 S
Z& 220,000,000 220,000 300,000 /80,000
ATHAAHIHX At X2 80,510 200,000 A119,490
401 AIEHIZL 2 0HY| 80,510 200,000 A119,490
01 Al&t 80,510 200,000 A119,4%0
OCHHE SHAZSLFALY B TA L
Rlejarsyeror 42 8
&3 80,510,000& 80,510 200,000 A119,490
Y2 AH|(HEFAIE D) 26,316 33,806 AT7,490
Jl=dhl 26,316 33,806 AT,490
Jl=&tl 26,316 33,806 AT,490
201 Zet2& 8,340 9,266 2926
01 AFS2teltl 8,340 9,266 2926
ORAN2d+=2H] Z& 3,791,000 3,791 4,212 2421
OJl=ge4s A
ZE 4,549,000& 4,549 5,04 A505
202 044l 15,576 21,840 NG, 264
01 =LHOLI 15,576 21,840 26,264
OJl=gead o)
2 & 15,576,000 15,576 21,840 26,264
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